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ΘΕΜΑ Α
Α1. γ
Α2. β
Α3. γ
Α4. β
Α5. α) Σ,    β) Σ,      γ) Λ,     δ) Λ,     ε) Σ

ΘΕΜΑ Β
Β1. = 12 = 12 = 12 (1)
ΑΔΟ = 0 ⟹ = ⟹ = 2 ⟹ =
οπότε = 2 = = = ⟹ = ⟹ = ⟹⟹ 2 = 12 ⟹ = 14 ⟹ = 12 ⟹ = 2
B2. ̅ = = ⟹ = 100⟹ + = 200= − = = 0,5⇒ 2 = 200,5⟹= 100,25 = 99,75 .
Β3. = ( έ < ί ά)= 2+ ή ύ ί
ΑΔΕ = ⟹ ⃗ = ⃗
για να διατηρηθεί η απόσταση τους σταθερή μετά την κρούση της m2 με τον τοίχο αρκεί:⃗ = ⃗ ⟹ | − |+ | ⃗| = 2+ | ⃗|⟹ − = 2 ⟹ = 3 ⟹ = 13
ΘΕΜΑ Γ3 = (1,4 − 0,2) ⟹ 3 = 1,2 ⟹ = 0,4= 1 = 2,5= ⟹ = = 2
Γ1. = ⟹= 7 = = 1
Γ2.0 ≤ < 0,2 ( ) = 00,2 ≤ < 1,4 ( ) = 2 − 2 = 5 ∙ 10 5 − 22 ∙ 1 = 5 ∙ 10 (5 − )≥ 1,4 ( ) = 2 ( − ) 2 − ( + )= 10 2 6 [5 − 2 8= 10 3 (5 − 4 ) = −10 (5 − 4 )



= 10 (5 − 4 + ) = 10 (5 − 3 )
Γ3. > 1,4 έ ή ή.
ΑΔΕΤ + = ⟹ + = ⟹ = − ⟹⟹ | ⃗| = − = 5 (10 ) − 5√3 ∙ 10 = 5 10 − 75 ∙ 10 = 25 ∙ 10 /
Γ4. == = ⟹ = 109 ⟹ = 910 = 1,8| | = 2 ( − ) = 10 1,8 ∙ 6 = 10 6018 = 10 103 == 10 2 + + 3 = 10 − 3 = 10 12 = 5 ∙ 10

ώ = = 12 ( ) ό12 ( ) έ = (2 )( ) = 4 (10 )4 (5 ∙ 10 ) = 10081 ∙ 1025 ∙ 10 =
= 81100 ∙ 1025 = 8125
ΘΕΜΑ Δ
Δ1. Η ράβδος ισορροπεί ⃗ = 0⃗⟹ ⃗ = 0⃗⃗ = 0⃗ ⟹ == = 56= 0⟹ ( ) + ( ) + ( ) = 0⟹⟹ ℓ2 − ℓ2 = 0⟹ = ⟹⟹ = 56 ∙ 0,60,8 ⟹ = 42 =ά = + ⟹ | | = + == 42 + 56 = (3 ∙ 14) + (4 ∙ 14) == 25 ∙ 14 = 70= = 5642 = 43



Δ2. = ⟹ − = (1)= ∙ ⟹ ∙ = ⟹⟹ = 25 (2)ό (1) , (2)⟹ − 25 =⟹ = 75 ⟹ = 57 ⟹⟹ = 507 ∙ 610 = 307 /
= = 307170 = 70 ∙ 307 ⟹ = 300 /

ό έ 300ύ . . ή έ ό ά . . ίά ί ώ .
Δ3. 0 ≤ ≤ ℓ = 1. . ώ ά ί.= 0⟹ ℓ2 − ℓ2 − − ℓ2 = 0⟹ ℓ2 = ℓ2 + + ℓ2 ⟹⟹ = 45 + 3

Δ4.




